5 HEME6 HEHAREEMMEL R (FERIRE)

X7 HME8 HEE[LL%26,

—
| ] B #EFR
B = 1 BEER
— —t 0O g
R =
@ @ @ ®
& #E & K4
n LB B# 2
Al HE LF 1ith
oy 5 h b
fis E® [RY"
ol 4 Bh =
# T Hif n
< » nb &
il > = f
1= & 74

EDLS>nruy

X 6

(%)

BR7 EEBICHATAEE L GREEL S,

35
30

S FHHIZRD EN T A (EHEE)

—=
|
| B #Hek
B B%FK
= O %K
= O hFig
@ @ @ ®
it B2 B e %
b3 hiE h&E 5 D
B By - By 2 2 1t
. % TeE 5
7 [ FAE] »
< Wi wT b
= & o
) = (%
T

X8 EM9 MWEELEDFMHIZ DT (HEKHE)

TLERAET N (BHKNE) o —
* = (B 59 | s W e W E
% s E{ —
40 H = il r——— —t O shsats
) [ | - @ @ @ @ ® O g
30 ] B RETR wE  FA % % g%
L L 2y fx  ES %3 43
10 HHH . O /bt 2 Y2 v & %
: O a.m.8, ﬂﬁﬁ =8 - : -
o0 R @ ® X9 10 %2 - 4 THEBOERARIZOWT
o 0k powhh Rk T xf L 5O — |mommsa
I E AR R # DR R (8 a0 g
FE OB EE B >Ry R 50 = [B=59%
12 4 0 o0 0 ¥ oo Z A 20 Ok
Ul BB oa & o2 ooy o i — == i
Y ?g B3 % ; S oE 1042 @ @ ®
Z & B b3 Eu
& 3 1z 3¢ 3
, & ED
7= b
> < D N D N D NI D NI D TN NI DTN DI DN AL
=tns
EAK[ R
ERI1291 A1 H~12H31H
= SR (C) 3858
THRIK | FRE | ARIK A (mm)
1A 1.9 9.5 -3.6 15.5 64.0
2 A -0.4 8.5 -2.9 13.7 51.5
3H 2.9 12.9 -2.2 17.1 177.0
4 H 8.0 18.3 3.6 22.6 129.0
5H 13.0 24.1 1 31.4 108.0 (%) mB%ELsHA 8 H12H 36.3°C
6 A 18.2 26.4 12.5 314 190.5 %@ﬁ?ﬁ?ﬁ@%ﬁ 1H21H -36°C
7H 22.7 314 18.3 35.5 151.0 AMERSRD 6H27H 93mm
8 H 23.5 32.8 20.0 36.3 45.0 R T T T
% Z ALgxid, K[ PriIZ 3%
e 29| 86 125l W11 O mUrammmEni CREAR. /o
104 14.3 23.2 7.1 27.8 128.0 X AL - BEER . KHEHESERR) b X
1A 8.7 17.7 1.9 24.1 107.0 UCHLM =R (FRREER = 38, KHEHES
12 A 2.8 12.3 -0.5 17 19.5 SRR ISk DBBEIL 2 TH B,
N




